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덕｜성｜여｜자｜대｜학｜교                                          (4 – 1) 
 

*배점은 각 문항 끝 괄호 안에 표시되어 있음. 
 
[1-9] Choose the best answer to complete each question. 

 

1. The 18th century French style of dress was _____ with tall, 

powdered wigs pinned with flashy hats. (2점) 

○1 E

A  dilettante 

A○2 E

A  flamboyant 

A○3 E

A  gullible 

A○4 E

A  facetious 

 

2. Jim had an insatiable sweet tooth and enjoyed all kinds of candy, 

but he had a special _____ for gumdrops, his absolute favorite. (2점) 

A○1 E

A  affinity 

A○2 E

A  odium  

A○3 E

A  nature 

A○4 E

A  disregard 

 

3. Dr. Hahn hoped that he would be able to distract public attention 

from the _____ failure that endangered millions. (3점) 

A○1 E

A  infinite 

A○2 E

A  fathomable 

A○3 E

A  abysmal 

A○4 E

A  abortive 

 

4. Revenue shrunk, debt mounted, and employees, fed up with the 

industry standard of shoddy pay, grueling hours, and nonexistent 

benefits—not to mention having to risk their health for poor 

compensation and rude customers—_____ their serving aprons and 

chef’s whites for good. (3점) 

○1 E

A  hang up 

A○2 E

A  hung up 

A○3 E

A  held down 

A○4 E

A  hold down 

 

5. Although it does contain some pioneering ideas, one would hardly 

characterize the work as _____. (2점) 

○1 E

A  orthodox 

A○2 E

A  eccentric 

A○3 E

A  innovative  

A○4 E

A  trifling 

 

6. In the last two decades, various _____ studies have shown an 

increased prevalence of antidepressant prescriptions in industrialized 

countries. (3점) 

○1 E

A  epidemiological 

A○2 E

A  procedural 

A○3 E

A  ecological  

A○4 E

A  distributional  

7. The news reporter’s story on the misuse of funds intended for 

public welfare _____ the idea of the government as _____ entity that 

prioritizes the well-being of the country’s people. (3점) 

○1 E

A  discloses – a malevolent  

A○2 E

A  uncovers – an imprudent 

A○3 E

A  contradicts – a benevolent 

A○4 E

A  confirms – a philanthropic  

 

8. Diamonds have inspired dreams of wealth and power throughout 

history. Until modern times, most diamonds were insignias of royalty 

and were beyond the reach of the common person, who could only 

_____ visions of the astounding beauty and wealth brought _____ by 

diamonds. (3점) 

A○1 E

A  elide – off 

A○2 E

A  extort – forward 

A○3 E

A  illicit – out 

A○4 E

A  elicit – forth 

 

9. His failure to respond in any way to the accusations was a serious 

political _____. (2점) 

○1 E

A  blunder 

A○2 E

A  breach 

A○3 E

A  tweak 

A○4 E

A  destitution 

 

[10-13] Choose the answer that has the closest meaning to the 

underlined word. 

 

10. Jonathan was silent for so long on the way home that we gently 

prodded him for some response. (3점) 

A○1 E

A  encouraged 

A○2 E

A  whispered 

A○3 E

A  nudged 

A○4 E

A  grazed   

 

11. Philosophy, unlike most other subjects, does not try to extend 

our knowledge by discovering new information about the world. 

Instead, it tries to deepen our understanding through ruminating on 

what is already closest to us—the experiences, thoughts, concepts, 

and activities that make up our lives but that ordinarily escape our 

notice precisely because they are so familiar. (3점) 

A○1 E

A  expounding  

A○2 E

A  collaborating  

A○3 E

A  corresponding  

A○4 E

A  contemplating  
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12. He unceremoniously dropped out of the presidential race, as he 

knew he did not stand a chance of success. (3점) 

A○1 E

A  conscientiously  

A○2 E

A  abruptly   

A○3 E

A  deliberately 

A○4 E

A  meticulously    

 

13. I’m not clear where tipping speaks to my character, as opposed 

to the character of a restaurant owner who doesn’t pay his 

employees a living wage. Why are poverty wages even a thing in this 

country? I’m not even suggesting he pay them an exorbitant wage—

just a living wage. (3점) 

A○1 E

A  extortionate  

A○2 E

A  ethereal  

A○3 E

A  economical  

A○4 E

A  improvident 

 

[14-17] Choose the answer that has the same meaning as the 

word in capital letters. 

 

14. RECEDE (2점) 

A○1 E

A  decline 

A○2 E

A  assuage 

A○3 E

A  recuperate 

A○4 E

A  placate 

 

15. PACIFY (2점) 

A○1 E

A  gratify 

A○2 E

A  vilify 

A○3 E

A  mollify 

A○4 E

A  purify 

 

16. APPARATUS (3점)  

A○1 E

A  trademark 

A○2 E

A  organization 

A○3 E

A  appendix 

A○4 E

A  gadgetry 

 

17. ENCUMBERED (3점) 

A○1 E

A  infringed 

A○2 E

A  despaired 

A○3 E

A  truncated 

A○4 E

A  hampered 

 

[18-30] Read the following passages and answer the questions. 

 

[18-20]  

Depression, which is considered a psychiatric condition, is 

characterized by an imbalance in mood and behavior regulators 

and is recognized in high-income countries as one of the most 

common causes of disability. This condition is associated with high 

health costs, medical expenses, and social costs, (A)_____ in 

reduced work productivity. In addition, the increasing (B)_____ of 

depression poses a new challenge for health workers and 

researchers. In 2004, the World Health Organization predicted that 

by 2030 depression would be the mental disorder with the highest 

level of disability worldwide.  

 

18. Which of the following best fits in blank (A)? (2점)  

A○1 E

A  reflected 

A○2 E

A  attenuated 

A○3 E

A  developed 

A○4 E

A  expanded 

 

19. Which of the following best fits in blank (B)? (2점) 

A○1 E

A  prevalence 

A○2 E

A  proportion 

A○3 E

A  prediction 

A○4 E

A  production  

 

20. Which of the following can be inferred from the passage? (4점) 

A○1 E

A  Depression has become the most common mental disorder in 

the world now.  

A○2 E

A  Depression can be treated and is expected to decrease in the 

next decade.  

A○3 E

A  The cost of treating depression will continue to wane.  

A ○4 E

A If left untreated, depression could decrease your work 

performance.  

 

[21-22] 

As scientists learn more about the hundreds of thousands of 

other parasitic species that do not harm humans, a picture of 

animal groups that play key roles in maintaining healthy 

ecosystems is emerging. For instance, parasites keep species 

populations in check just like predators do. Parasites also help to 

push energy up the food web, by making prey species behave 

more recklessly and become easier for predators to catch. 

California killifish infected with a trematode flatworm, for example, 

are 10 times to 30 times more likely to become meals for birds 

than uninfected fish. 

 

21. Choose the best title for the passage above. (4점) 

A○1 E

A  New Scientific Findings on Parasites 

A○2 E

A  How Parasites Harm Our Lives  

A○3 E

A  You May Miss These Parasites When They're Gone  

A○4 E

A  Parasites Are Predators 

 

22. From the passage, what does in check mean? (3점) 

A○1 E

A  keep checking 

A○2 E

A  proliferate 

A○3 E

A  procreate  

A○4 E

A  under control



2023학년도 편입학모집 영어필기고사(1교시)  

 

덕｜성｜여｜자｜대｜학｜교                                          (4 – 3) 
 

[23-25] 

While most scholarship on women’s employment in the United 

States recognizes that the Second World War (1939-1945) 

dramatically changed the role of women in the workforce, these 

studies also acknowledge that few women remained in 

manufacturing jobs once men returned from the war. But in 

agriculture, unlike other industries where women were viewed as 

temporary workers, women’s employment did not end with the 

war. (A)_____, the expansion of agriculture and a steady decrease 

in the number of male farmworkers combined to cause the 

industry to hire more women in the postwar years. Consequently, 

the 1950s saw a growing number of women engaged in farm labor, 

even though rhetoric in the popular media called for the return of 

women to domestic life.  

 

23. What best fits in blank (A)? (3점) 

A○1 E

A  Instead 

A○2 E

A  Inevitably 

A○3 E

A  Accordingly 

A○4 E

A  Nevertheless 

 

24. It can be inferred from the passage that the manufacturing and 

agricultural sectors in the United States following the Second World 

War differed in ______. (4점) 

A○1 E

A  the rate of expansion in each sector  

A○2 E

A  the rate of female employment in each sector 

A○3 E

A  the trend in the wages of men employed in each sector  

A○4 E

A  the extent to which women in each sector were satisfied with 

their jobs 

 

25. Which of the following is most clearly supported by the passage? 

(4점) 

A○1 E

A  Most women who joined the workforce during the Second World 

War wanted to return to domestic life when the war ended.  

A○2 E

A  The great majority of women who joined the workforce during 

the Second World War were employed in manufacturing jobs.  

A○3 E

A  The end of the Second World War was followed by a large-scale 

transfer of women workers from manufacturing to agriculture.  

A○4 E

A  The increase in women’s employment that accompanied the 

Second World War was longer lasting in agriculture than it was in 

manufacturing. 

 

[26] 

Today, about half the adults in the world own a smartphone, 

and there are as many subscriptions as people. In parts of the 

world without roads, landlines, postal service, newspapers, or 

banks, mobile phones are more than a way to share gossip and 

cat photos; they are a major generator of wealth.  

 

 

 

26. Which of the following cases best illustrates the main point of 

the passage? (4점) 

A○1 E

A  A businessman downloaded a smartphone app that is designed 

to alert users if they have been exposed to the coronavirus. 

A○2 E

A  A small-scale fisherman used his mobile phone to find the 

market which offered the best price that day. 

A○3 E

A  A student in India had a conference call interview with a job 

agency in Japan using her iPhone. 

A○4 E

A  A US senator subscribed to a mobile phone service that donates 

10 percent of her mobile phone bills. 

 

[27-29] 

For generations, social critics have worried about the impact of 

technology on people’s stress. Trains and industrial machinery 

were seen as noisy disruptors of pastoral village life. Telephones 

interrupted quiet times in homes. Watches and clocks added to 

the dehumanizing time pressures on factory workers to be 

productive. Radio and television were organized around the 

advertising that heightened people’s status anxieties. 

And so it was inevitable that the critics would shift their focus 

to social media. But social media can be neither (A)_____ nor 

blamed for the increase in loneliness among young American 

students. Not, according to the new surveys, have adults become 

isolated because of social media. Users of social media have more 

close friends, express more trust in people, feel more supported, 

and are more politically involved. And notwithstanding the rumor 

that they are drawn into an anxious competition to keep up with 

the furious rate of enjoyable activities of their digital faux-friends, 

social media users do not report higher levels of stress than non-

users. (B)_____, there is one telling exception: people get upset 

when they learn that someone they care about has suffered an 

illness, a death in the family, or some other setback. 

 

27. Choose the most appropriate word for blank (A). (2점) 

A○1 E

A  accorded 

A○2 E

A  credited 

A○3 E

A  abused 

A○4 E

A  censored 

 

28. According to the passage, what might have influenced social 

critics’ misconceptions about social media? (4점) 

A○1 E

A  The development of technology has been identified as the major 

source of stress. 

A○2 E

A  Young adults see each other often in traditional venues like clubs, 

churches, unions, and dinner parties.  

A○3 E

A  Social life nowadays looks completely different from the way it 

looked in the past. 

A○4 E

A  People tend to get stressed when they have to compete with 

their digital friends.  
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29. Choose the most appropriate expression for blank (B). (3점) 

A○1 E

A  Nevertheless 

A○2 E

A  In other words 

A○3 E

A  For example 

A○4 E

A  Consequently 

 

[30] 

In George Orwell’s classic allegorical novel Animal Farm we are 

introduced to the fictional character Boxer the horse. He is 

described as faithful and strong. His answer to every setback and 

every problem is, “I will work harder.” He lives true to his 

philosophy under the direst circumstances until, exhausted and 

broken, he is sent to the knackers’ yard. He is a tragic figure: 

despite his best intentions, his ever-increasing efforts actually 

exacerbate the inequality and problems on the farm. 

Are there ways we can be a bit like Boxer? Do setbacks often 

only strengthen our resolve to work longer and harder? After all, 

we have been taught from a young age that hard work is key to 

producing results, and many of us have been amply rewarded for 

our productivity and our ability to muscle through every task or 

challenge the world throws at us.  

 

30. Which of the statements below best summarizes what can be 

learned from the passage? (4점) 

A○1 E

A  More effort does not necessarily yield better results. 

A○2 E

A  Work hard, but do not expect any outcome. 

A○3 E

A  Intellectual ability matters more than efforts for success. 

A○4 E

A  Doing less actually produces better outcomes.  

 

[31-35] Choose the best answer to complete each question. 

 

31. By the time our guests arrived at the reception, Mr. Davis _____ 

the toast. (2점) 

A○1 E

A  has already given 

A○2 E

A  had already given 

A○3 E

A  will have already given 

A○4 E

A  already gave 

 

32. Tourists _____ when large numbers of lower-class people _____ to 

join the wealthier aristocratic travelers. (3점) 

○1 E

A  had originated – had begun 

A○2 E

A  had originated – began  

A○3 E

A  originated – began 

A○4 E

A  were originating – began 

 

33. Discouraged workers are persons _____ for work because they 

believe that there are no jobs available for them. (2점) 

A○1 E

A  not currently look 

A○2 E

A  not currently looking 

A○3 E

A  concurrently look 

A○4 E

A  concurrently looking 

34. A combination of imagination and determination _____ George 

_____ entirely new lines of research concerned with the way penguins 

survive extreme environmental conditions. (2점) 

A○1 E

A  allowed – to develop 

A○2 E

A  were allowed – develop 

A○3 E

A  will allow – to be developing 

A○4 E

A  had allowed – to being developed 

 

35. Keira keeps saying that she has got _____ patience with children 

but forgets that she didn’t have _____ before she gave birth to her 

own kids. (3점) 

A○1 E

A  much – few 

A○2 E

A  too many – any  

A○3 E

A  enough – as much 

A○4 E

A  such – none 

 




